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EE 211/EE 212 Exam 2 Test Version A

Circle or check off the correct answers in this exam.

Name:

Problem 1
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Using nodal analysis, solve for the current 1.

COa)—9 mA
CB) 9mA

O —12 mA

Cp) 0 mA

CE)12 mA
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Problem 2
2.
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The supernode used to solve this circuit is located between which two nodes?

O a) V3 and Ground
Op) F1 and 73
Ocy V2 and 73
p) V1 and 77
Cg) 2 and Ground
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Problem 3
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3.

Solve for the voltages F2 and F3 in the above circuit.

OpF2=433Vand F3=—567TV
OpPr=733Vand F3=-267V
OQFr=533Vand F3=—467V
Op)F2=1567Vand F3=55TV
Op Vr=146TVand F3=467V

Test Version A
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Problem 4

4.
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Solve for the voltage drop across the 4 ohm resistor.

Test Version A
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Problem 5
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Find the power supplied by the 2A source.

Om—12W
Op—2W
18 W
Op 12 W
OR2W

Test Version A
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Problem 6

6.
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Solve for the currents J1 and I in the above circuit.

Oanh=—2Aamdh=1A
Oph=05Aand=-1A
Ogh=—2Aamdh=-1A
Oph=0Aand=1A
Ophi=0Aandh=-1A

Test Version A
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Problem 7
7.
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Which of the following answers describes the supermesh equation for the circuit shown above?
Da)2ipa—ip-3ic=0

Op2iatiptic=0

Oc)-2ip tig-3ic=0

Opyia+ig+ 3ic=0

OB 2ip+ip+ 3ic =0
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Problem 8

8.
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Which resistor(s) affect(s) the gain Fout/Fin?

Da) Ry
Ce) R3

D¢y Ry and R;
p)R1, Ry, and R3
OB Ry

page 8/20



EE 211/EE 212 Exam 2 Test Version A

Problem 9

9.
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Which answer best describes the function of the above circuit?

O a) Inverting amplifier

O B) Unity-gain buffer

O c) Difference amplifier
O p) Inverting summer

O g) Noninverting amplifier
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Problem 10
10.
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Solve for the gain, Vou/Ti, , of the circuit above.
Assume that the op amp is ideal and is operating in its linear region.

©a)0.125 VIV
©8) 1.0625 V/V
D0 1.125 VIV
Oy 1 VIV
E)0.0625 VIV
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Problem 11

11.
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Which of the following input voltage values produce 1V at the op-amp output?
Assume that the op-amp is ideal and is operating in its linear region.

Oa)0.75V
08 0.6V
0g1Vv
Op)0V
0g 0375V
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Problem 12
12.
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Solve for the value of v, in the circuit above.
Assume that the op-amp is ideal and is operating in its linear region.

Oa)—25V
OB25V
O0—50V
Op) 75V
SIEIAY
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Problem 13
13.
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Solve for the value of v, in the circuit above.
Assume that the op-amp is ideal and is operating in its linear region.

Om4V
Og2V
0Q1V
Op)8V
Og6V
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Problem 14
14.
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Determine the value of v, given the input voltages shown.
Assume that the op amp is ideal and is operating in the linear region.
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Problem 15

15.
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Which resistor values result in a circuit gain, o/ Vi, of +5000 V/V?

OMmRI=500kQ . Ry)=1kQ, R3=10kQ, R4 =1kQ
OB R1=499kQ, Ry =1kQ, R3=9kQ, Ry=1kQ
OQR1=1kQ, R2=500kQ, R3=1kQ, R4=10kQ
C p)None of the following are correct

ORI =1kQ, Ry=490kQ, R3=1kQ2, R4 =9kQ
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Problem 16

16.
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Solve for the value of 7}, needed to produce 12 V at the output.
Assume that the op-amps are ideal and are operating in their linear regions.

Oa6V
Op)—6V
OqoV
O3V
Og -3V

page 16/20



EE 211/EE 212 Exam 2 Test Version A

Problem 17

17.
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Determine the power supplied by the op-amp in the circuit above.
Assume that the op-amp is ideal and is operating in its linear region.

Ca)—120 mW
Cp) 108 mW
O 0W

Cp) 120 mW
CE)—108 mW
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Problem 18

18.
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Determine the power supplied by the op-amp in the circuit above.
Assume that the op-amp is ideal and is operating in its linear region.
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Problem 19
19.
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The op amp in the above circuit is ideal and has a saturation voltage of £10 V.
Solve for the voltage, v_, at the inverting input terminal.
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Problem 20-24

This last question consists of five true/false sub-parts, 1 point each.
All questions refer to the op amp model shown in the figure below:

b — R,
Vi O—— AN O v,
R; § <t>A'(v+ —)
V. o—— 1
i —s -

20.
In an ideal op amp the input currents i+ and i are zero amperes.

O A) True
() B) False
21.
In an ideal op amp the gain, 4, is infinite.
O A) True
()B) False
22.
In an ideal op amp the output resistance, R, is infinite.

O A) True
() B) False

23.
In an ideal op amp when negative feedback is applied and when the op amp is not in saturation,

the input voltages v+ and v— are equal.
O A) True
() B) False
24. In an ideal op amp the input resistance, R;, is zero ohms.
O A) True
() B) False
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